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Nom - Prénom:

Exercice 1

Compléter les identités remarquables :

• (ax+ b)2 = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

• a2x2 − b2 = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

Exercice 2

1. Résoudre l’équation suivante
3x − 2 = 10

2. Mettre sous la forme an

• 233 × 235 =

• 154

152
=
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Exercice 1

Compléter les identités remarquables :

• (ax+ b)(ax − b) = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

• a2x2 − 2abx+ b2 = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

Exercice 2

1. Résoudre l’équation suivante
5x − 3 = 7

2. Mettre sous la forme an

• 213 × 214 =

• 96

94
=


